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Shri Shankaracharya Institute of Professional Management & Technology
Department of Civil Engineering

Class Test - I Session: July - Dec,202l Month - October
Semester - 7th Subject - eSCE, Code - 320734 e0)

Time Allowed: 2 hrs Max Marks:40
Note: - Question (a) is compulsory. Attempt any two from b, c and d form part I and part II.

i Part- I;;:rl catc"tat;G;itr; G"sth;ffoli;wfis bars -I----* r*- .-l* -*-- ^^- 
_--,

; i 70 cm section. Work out the quantity of steel and RCC in Beam and also i ttt , apptv i COz it;
i-LP-!e-Pg9-P--B*$,:i'i

i i 4. Scrap Value l0%.I!il

I i transvers direction to the center line. Calculate the volume contained in I i i i

i *- j *: *yl oi:so m. The central height at 5 m interval being 2, 3.s, 3.d I t8l ! Apptv ; co2 
j

i_-_J.I.3.9J,I_e$Jm_rcSp99_try9ly. i i i i

j i building cross section of wall and foundation given. j .^. i ; i

; i (i) Eartiwork (ii) Concrete in Foundation (iii) Brickwork in plinth and i t8l , Applv i co2 j

i -- Lfssrdpltol Gy)_ErigKy!*iqjupsl$$rerure, i i i i

r-*'

l. Sinking tt;rird @6% for the 75 years

2. Annual Maintenance l.5Yo of cost of construction
3. Municipal Taxes 28.55 of net rent

t8l ! Understand

(b)

i (c)
!,*- \j \./

(d)

_.,:-'",*r1,g*ethods of vatuation. , i;r 
-ffi'*. --;o;-^l

Describe Different rrd*",hrd;d.rr.rtr,t", -t,h *t*u;;.r"01". 
-f-tt ;;;;;*a--- .* 

--l
X pedhas;*chad;pl"iTf costilg Rs:80"000 ard has;orstd"teA';**-:*-'-i*--- -i---l
building there on at a total cost of 1,20,000 including water sttpply, i j i i

sanitary and elechical installation etc. Allowing a net retum @7 peiient i i i i

:''''',1

on the cost of construction and @5 percent net return or the land,
workout the standard rent.

., 
' '. 

,..........., ..... .. ,.... -. - - - , , , , , , , ., , l
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Time Allowed: 2 hrs. Max Marks: 40

/

A.: ilrl:vllwrolqru'
1B. I Explain the function of traffic engineering. I t8l i Understand

;. 
'-- 

wh;iad idfdt"i' on;iiiaii FCU depends. , t8l i unaerstara i col

D. Discuss the various traffic study and their importance i t8l I Understand ; COI

Part II
;iliaild - i" - tiuif';]-*-**** ii Describe. various vehicular characteristics

i engmeenng.
L-"....

i C. r Explain Speed and Delay study with methods.

A. i t4l i Understand

i----*--*-------

co2 
i

,',,',,,,,''.',,,.,............',''i

co2i [8] i Understand , CO_2

iii
t8l : Understand i COz 

i

Note:-InPartI&II,

Explain Origin and Destination study with methods.
-- ^----r-.,--'--- iij:i

i Lll _,U,d::*Td, 90? i

Shri Shankaracharya Institute of Professional Management & Technolory
Department of Civil Engineering
Online Class Test - I Session: July-December,202l Month - November
Semester -7th Subject-TE Code -320750(20)
Time Allowed: 2 hrs. Max Marks: 40
Note:-InPartI&II, and at B,C&D.

Part I irart I 
i

tand : COI 
i

t:

: B. i Explain the function of traffic engineering. i t8l i Understand , COl 
i

: C. . 
\"h* are the factors on which PCU depends. i tgl i Understand ; COl 

i

B. . Explain the function of traffic engineering i t8l i Understand . COl 
i

i O. ! Dirrrr., the various traffic study and their importance i tS] i Understand i COI 
:

Part II

i n. i engineering.
i;-

i g. i Explain various types of Parking with neat sketches.

C. i Explain Speed and Delay study with methods.

J,,,,,,,^u:*

i"':

i D. : Explain Origin and Destination study with methods.
t..- ....:.

I4l :UnderstandiCO2
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Semester - zth Subject -WATER RESOURCES ENGINEERING -I Code -320732Q0)

Time Allowed: 2 hrs. Max Marks: 40

colDefine duty and delta. How duty of water can be improved?

ffi
Understand col

knowing the quantity of water at the root of the soil, what are the

different efficiency which are to be taken into account explain in

sequence.

Write short notes on

1. Lift irrigation

2. Drip inigation

3. Ill effect of irrigation

Section II
Tio cud;' of *ate; is deiirered to ;-ii-[dctffi ftiia foi 4-trg*J:-i-* -l

I

I

ir,A i Soit probing after the irrigation indicates that 0.3 meter 
T_-.*p"t 

r* 
! 

4 
i

--*-inre6.rnin. ii.ua air.targ" of itre "#uito;ila"d a GCA of 75000 I Iir;
! hectares with following inigation statics. CCA is 80%. Intensity of i i

i

i irrigation- for Kharif crop is 40% and that for Rabi crop is 60%.

Outlet factor for kharif crop 1,400 hectares/cumecs and that for rabi

crop is 2100 hectares/cumecs. Take conveyance loss of canal 189/o.

Atei trow many days will you supply water to soil in order to insure

sufficient inigation in the given crop if
i. Field capacity of soil :27%o

ii. Permanent wilting Point= 14Yo

Analyze cor

Analyze i COl 
iiilili

J__ .-.. ..j

lit:1i
Analyze i COI 

Iliirli

Note: -Part A is compulsory in each section. Attempt any two from part B, C and D. Assume

suitable data, tf required, and mention it cleorly.

I



111.

iv.

v.

Dry density of soil = l.5gm/

Depth of root zonre=1S cm

Daily consumptive use of water for the given crop= I lmm

Duty at the head of

the canal

(hectare/cumecs)

Overlap for

sugar cane for

hot weather

}a6[ gt"enfito* gives the necessary data about the crop their duty

and the area under each crop, commanded by a canal taking offfrom

a storage tank. Taking a time factor for the canal to b 13120.

Calcutate the discharge required at the head of the canal. If the

capacity factor is 0.8, determine the design discharge.
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Semester - 7th subject - structural Engineering Design IrI code -320731e0)
Time Allowed: 2 hrs Max Marks: 40

Note: - In part I & II, Question A is compulsory and attempt any twofrom B,& c.
Use of IS 800:2007 and steel table oermitted

(ii-St"t"* formulae- ioft6ilmi6i-a"pih-ri
A. ithicknessof web i 6 iunderstand

i (ii) List the components of plate girder i j

B. : it hasb tup-pgtt an uniform load of 80 kN/m throughouitle span exci-usive i , , j 
^

i 
o.{,:tlf weight. Design the plate girder without intermediate vertical , '4 i ureate

COI

i j oI selt weight. Design the plate girder without intermediate vertical j '* i urearc

i : stiffener, assume steel of grade Fe-410, design connection also. i iir. i-- * i_ _i*
i* i P:tig" a welded plate girder ]}min span *a iui"iuly supported throughoui i 

-- :.--*
, c. , 

it^h*- to support an uniform load of 80 kN/m throughout-tir. rp* exci-usive i , , i ^i - : of self weight. Design the plate girder with intermediate vertical stiffener. t t4 i create

: : :-".8 
. s sBrsurv vwqlt vvtLtlrur .r,DJUlIllIfB Iy _ ZJUi\/Irun-.

i i fah lfrs effeglive lgngth of th9_-gghlm* *s_0,8L plgng-both the axes.
i-\y*iD;"1;-;-i;;;;"llrr crrnnnr+a,t t ^^* ^r^Gr^^+i-.^ ^-^- z .^^ i^",-"---*....----1v 

, gesisn , 6t#iii ilpdrda Gam ;i;ffdai"e sp* oH'r";
the followingdata.
Grade of steel: Fe 410
Maximum bending moment : M = 150 kNm
Maximum shear force : V:210 kN
Check for deflection is not required.

COI

Remember

Factored axial load: 500 klr{
Factored moment M,
at top:27.0 klrlm
at bottom:45.0 kNm
design a suitable beam column assuming fy:250N/mm2

'i---*-----.*..- *j

co2

t4

ji
-_*_i"._*- "_.....* .i
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-ssIpMTA orrtio" Class Test - I Session: July-December, 2021 Month - November
&- &'J.A
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Note: - In part I & II, euestion A is compulsory and attempt any twofrom B, C & D'

i 
- 

**-' 
tht-""'aiii;"' "dd;hith"ffinhoGs 

-* -- I -:- ' 
.* 

I t ^-.*!.- *-.......-...-..-*-*i-*-- - "--What 
are Manholes? Mentiori : ,_yr^TTor"", rvrer.ru, *rv wurrsrlrv 

i t4] i understand i col
. A. i are constructed. i i 

;

il: R i T)erive the hvdraulic elements of a Circular Sewer i t8] i ApptY I COl
i B. I Derive the hydraulic elements of a Circular Sewer
i*-----ffifi";**;i";".u"apop"r"tio"of:0000;idd"iitpeiCipita i i i

i i ;b;;r. being 135 liters oiwhich 80% finds its wav into the i i i

^l i ,"*.r. The slop]e available for the sewer to be laid is I in 625.The i i 
i

\s c. ir#;uldbedesignedtocarryfourtimesdryweatherflowwhen 
i tst i eoaty'" i cot

i i runnins full. Also calculate the velocity when the sewer is runnmg
: i c-,-,----i^

luuuuS

fulI. Assume N:0.012 in Manning's formulai i full. AsSume N: U.ULZ ln.vrarurng s rurruurc I i i i

i i A main sewer is to be a.rien;J io carry the "o-ti*O 
flow of waste i i i ii!

i i water anJ storm water of a.township^s-n1ead "]:1 i-*,t1:1]tff: i i i i

iK..Jil* ur.tue. population "i'59,pt*:1t^lf ,f:tT:^I}] i i i

; ur.rug. rate of t"itug. flow can be taken as 220 lnca a1f tle ; i i

D. i ma:rimum flow is tzow in excess of average together with the i t8l i Apply i col
i rainfall equivalent of l0 mm in 24lus. calculate the.discharg? Pt i j 

i

iri
i Rnalyre i COI i!ii1__ . i*-. iliiiti

,,r1ifi;ffi;;;iri" u. designed and also find the diameter of q. i j

sewer when running half-full. Take N: 0.012 and the slope as 1 in : 
i

i
! .',,,,,,,,,,,,.'....,.']

!'-,,.-.-,.-----_--_- i-

i .. i Discuss id it"drd;" of tf,. .fr".i;;id"perties oiwaste water in i I I i

\r, A. i brief with proper explanations. 
,.' vr wsplv '.-* * i t+t I understand i col 

i

'- *J 
Eilrt" th"il;;.d*" ;f th. d.;r"rination of tot+ s?1i1]: 

lllp^"ldtd : ro., i 
^ -^,.,-^ i "^, i

i B. i solids and settteable solids for a wastewater sample. How one can i LUI " 
Anatyze : u.,r 

.

i ;;i;il; the organic and inorganic part of these solids? : : ; I

i Oerive the first stage BOD equation curve and explain-all the ^ i

i u. i ;t',i:?'ff:"1ffi:1ffi"Ii,)',1"#T#i-1", fi'o"r""i?ni' 1'"-*,s.g . t8l : Apprv i cot 
i' "' 

i il;;;"*-l';i;;idc; i*" po9-,."":;:*Tt Io:: lo]:19 ' , . i:i


